t

E 0l & AF & F A

2 A& K& (e &)
SI(3IH) - HEAMY - BAS o AF o San H D2
ER= 297,335 47,213
R 209,640 44,900
FOXXAE HWAS2E L HoAAIL X 145,250 44,900
FOUTXAMH 2 73,050 9,000
201 et A | 14,050 AN47,000
01 AFR2t2l Yl 13,250 N47,000
OdHE2g Litx==H| 4,250,000& 4,250
ORI+ 9,000,000& 9,000
3294l 800 0
OA& &l S XYl 800,000& 800
ete A2 53,000 50,000
SHALAHIE A2 3,000 0
OFUNXRAAZ /IS LK EHH As
100, 000& *25H *13| 2,500
O2te 3 &l 500,000& 500
JIEIE &2 50,000 50,000
O2 A 50,000, 000& 50,000
XH&HF S HI 6,000 6,000
ML EEFSHI 6,000 6,000
Odted] A2 3,000, 000& =2CH 6,000
Z= 01T O A 56,200 19,900
201 Bt A | 15,500 500
01 AtR 22| 4,500 4,500
OFANRAUAZHIAIAE 95  200,000&*12& 2,400
O& =7 AX= 2,100,000& 2,100
=329l 11,000 A 4,000
OoxteEEs 2 S XYl 5,000,000& 5,000
OFEANEX 5,000,000& 5,000
O&sx % 500,000& 500
OAN&EZ2 £ 500,000& 500
AR =AY 1,700 0
Al F=XHRF XY 1,700 0
OFds STHLYRAMFA 1,700,000& 1,700
A&H L 2U Y| 36,000 20,000
36,000 20,000
O&A 15 & SEME SA
20,000,000& 20,000
ZHOHQI T OJAlAE 2T A 6,000,000& 6,000
I A LEDS A = 4,000,000& 4,000




FN: ZLS
X SYS AEEH
& FUNXEE WASYE & BHAANE XA (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFQIHIE OFL{2HE WA (29 &)
2,000,000& 2,000
OFAL &&HE CCTV Xl S AH(6OH)
4,000,000& 4,000
405 THabH SH| 3,000 3,600 A 600
01 et ESFH S 3,000 3,600 A 600
OQId =B-CHIl EAIDI(29H) 3,000,000& 3,000
2017 AlQlstg SOt SH S 16,000 0 16,000
201 Let24E] 16,000 0 16,000
03 &Ar2 I 16,000 0 16,000
OAlglster &titg HMsal 16,000,000 16,000
Bt ESEY 64,390 64,390 0
cEtEE S AR 64,390 64,390 0
301 et a = 64,390 64,390 0
058 -0 -tH¥ESE4= 64,390 64,390 0
os&d=¢ 200,000& x18H +12& 43,200
OsZ&dNH3 200,000 18K %23 7,200
OsH3gasdg 20,0003 »18H +23| x12& 8,640
Otttz =l 50,000& 107 13 5,350
HY2IZH(ELS) 87,695 85,382 2,313
AR IH(EYS) 31,515 30,002 1,513
NEAL(BLS) 31,5156 30,002 1,513
101 @124l 31,515 30,002 1,513
03 RIHAZZ N E =+ 31,515 30,002 1,513
O EAazelgdsgoe 31,515
A== 1,167,750 x1E «12& 14,013
-&0= 1,167,750 »1E x4 & 4,671
AR =1 1,167,750 =123 x12% 1,682
“A2H R 2R 9,9403 x1H #22Al 2t 122 2,625
5222 79,600 x1H 2 123 1,911
=g 53,0703 »1H «52=F 2,760
-ARSRtE 53,0703 x1H »10! 531
- A G A 80,000& x1H » 128 960
-~WS2 A4l 60,0003 x1H » 128 720
-g &2 F Il 1,167, 750& «2& *60% 1,402
HEH 20,000 x 18 «12& 240
2ZH(ZLS) 56,180 55,380 800
=2zt (s2s) 56,180 55,380 800
201 £B-2dH| 29,200 26,700 2,500
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